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I. Do not write your name or Put any other mark of identification anywhere in the OMR Response Shect. IF ANY MARK OF L-.
IDENTIFICATIONS IS DI

5. USE/POSSESSION

1

5

N O] ESPONSE SHEET, the OMR sheet will be cancelled, )

and will not be evaluated, .

2.  This Question Booklet contains the cove i i i ‘"v

over page and a total of 170 Multiple Choice Questions of 1 mark cach .

3. Space for rough work has been provided at the beginning and end. Available space on cach page may also be used for rough ,q
work. 'i-

4. There js negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be deducted. 4

OF ELECTRONIC GADGETS LIKE MOBILE PHONE,

iPhone, iPad, page ETC. is strictly
PROHIBITED.,
6. Candidate should check the serial order of questions at the beginning of the test. If any question is found missing in the serial
order, it should be immediately brought to the notice of the Invigilator. No pages should be torn out from this question booklet.
7. Answers must be marked in the OMR response sheet which is provided separately. OMR Response sheet must be handed over
to the invigilator before you leave the seat. |
8. The OMR response sheet should not be folded or wrinkled. The folded or wrinkled OM R/Response Sheet will not be
evaluated.
9. Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet. Any other details, if asked for,
should be written only in the space provided.
10,

There are four options to cach question marked A, B, C and D. Select one of the most appropriate options and fill up the

corresponding oval/circle in the OMR Response Sheet provided to you. The comect procedure for filling up the OMR
Response Sheet is mentioned below.

11. Use Black or Blue Ball Pen only for filling the ovals/circles in OMR Response Sheet. Darken the selected ovalcircle
completely. If the correct answer is ‘B’, the corresponding oval/circle should be completely filled and darkened as shown
below.

CORRECT METHOD
] WRONG METHOD

|
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Q.

Print this pdf and then arrange papers
according to you!

Q4

Q6

Directions-(1- 28) Reng the que

SET -

stions Carelully ang answer the helow:

1 1 Cabinet on January 16, 2019 approved
cd processing centre (CPC) port:
¢ from 63 days 10 just -

processing

A) One day

B) One week

C) One fortnigh;
) One month

Q.2 India's imports jn terms of US dollar registered a growth rate of 12.61 per cent during

April-December 2018-19 over the same period of 201 7-

. / 18. However, import growth
rate in terms of rupees in the same period remained —

A)12.03%
B)15.65%
C)19.16%
D) 21.81%

India's exports in terms of US dollar registered a growth rate of 10.18 per cent during
April-December 2018-19 over the same period of 2017-18. However, export growth
rate in terms of rupees in the same petiod remained-

A)12.03%
B)15.65%
©)19.16%
D) 20.13%

India's exports during April-December 201 8-19 have been -

A) US $ 245.44 billion
B) US $ 286.65 billion
C) US $ 396.73 billion
D) US $ 265.33 billion

What was the economic growth rate of the State of Bihar during the year 2016-17 ?
A) 6.3 per cent

B) 7.3 per cent

C) 8.3 per cent

D) None of the above/More than one of the above

In Bihar, during April-June 2018, which sector has attracted the highest FDI equity
inflow?
A) Service sector
B) Steel industry )
©) Processing industry in agriculture
D) None of the above/More than one of the above

A c7/ccT D
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Q7

Who among the following is the CEO of the NITI Aayog ?

&) Amitabh Kant
B) S. S. Mundra
C) Cyrus Mistry
D) Soumya Kanti Ghosh
evelopment ?

Q.8 Which one of the following is not an initiative for industrial d
Q.16

Q9

Q.11

Q12

Q.13

A) Make in India

B) Ease of Doing Business

C) Start-up India

D) None of the above/More than one of the above

During Twelfth Five-Year Plan, which one of the following average annual growth
rate targets was envisaged for agriculture and allied sector ?

A) 3.0 per cent

B) 3.5 per cent

C) 4.0 per cent
4.5 per cent

Bengal Tenancy Act ?
A) 1868
B) 1881
C) 1885
D) 1893

Which one of the following countries has officially recognized Bitcoin as a legal
payment method since Ist April, 20177

A) Japan

B) China

2) USA

D) India

Who among the Winners of Best Actor of the Film of 64th Filmfare Award 2019.

A) Alia bhatt

B) Meghna gulzar i
£) Gajraj rao

D) Vicky kaushal

Who among the Current RBI Governor?
A) Urjit Patel
B) Raguram Rajan
+C) Shaktikanta Das
D) BP Kanungo

Q.14 Ease of Doing Business 2019 Released by: World Bank

A) New Zealand
B) Singapore

C) Denmark
M)Al of the above

When were the rights of the tenants on land in Bengal and Bihar recognized by the Q

www.JMIEntrance.com



.15 India"
Q ne w@mznn_u_su:n:, Tate as per CMIE Survey jumps to 2-year high of
B)7.2%
C)3.9%
D)4.9%

Q.16 The Nobel Prize in Chemist
awarded with one half to:
A) Frances H. Amold
B) George P. Smith
C) Sir Gregory P. Winter
» All above

ry 2018 for the directed evolution of enzymes was

Q.17 WMM sﬂbr.m out of 140 economies on Global Competitiveness Index 2018:
B) 68%
C) 48%
D)38%

Q18  Repo rate under the liquidity adjustment facility (LAF) by 25 basis points from 7
February 2019, MPC Stands:
_A) 6.5% 10 6.25%
B) 6.5% to 6.50%
C)6.5% to0 6.30%
D)6.5% to 6.35%

—
e emercacameee RIS

Q. 19 Justice Ranjan Gogoi sworn in as Chief Justice of India as
A) 46th
B) 45th
L) 47th
D) 48th

Q.20 India to be largest aviation Market by 2024
A)2nd
B)3rd
C)4th
_Dylst

The principle of offsets is often used in ........ Sector/industry.
A) Private Equity

BJ Defence

C) Fast moving consumer goods

D) E-Commerce

]
2

Q.22 Current account deficit, as a per cent of GDP in second quarter (July-September) of
2018-19 in India was -
A)2.7%
B) 2.8%
C)2.9%
D) 3.1% .

M-57/SET B
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Q.24

Q.25

Q.28

became India's first company to cross quarterly net profit of Rs, 10000 ctores
in

Q3 (October-December) of 2018-19. it
X) Tata Consultancy Services R
B) Wipro Industries

C) Reliance Industries Ltd )
D) ONGC w

The 32nd meeting of GST Council decided to raise the basic threshold limit for

suppliers of goods to Rs. .......... from Rs. .......... for big states. 30
&) Rs. 40 lakhs; Rs. 20 lakhs Q
B) Rs. 20 lakhs; Rs. 10 lakhs

C) Rs. 30 lakhs; Rs. 20 lakhs

D) Rs. 50 lakhs; Rs. 20 lakhs

India's Currect Account Deficit in second quarter (July-September) of 2018-19 was

....... per cent of GDP.
Q31

A) 1.9%
B) 1.1%
C)2.9%
D)3.1%

Which Kisan yojana was launched recently by the Union Government in the Q:
presentation of Budget 2019?

4) Pradhan mantri kisan samman nidhi

B) Pradhan mantri kisan yojana

C) Pradhan mantri kishi yojana

D) Pradhan mantri krishi sichai yojana

The 22nd All India Institute of Medical Sciences (AIIMS) will be set up in which
state, as per the Interim Budget 2019-20?

AY Haryana
B) Punjab

C) Telangana
D) Rajasthan

As per the Interim Budget 2019-20, Individual tax payers with taxable income of up to
what amount will get full tax rebate from now on?

A) Rs 3 lakh

B) Rs 5 lakh

C) Rs 7 lakh

D) Rs 9 lakh

www.JMIEntrance.com
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Directions( 29-

38 ) Ar, i
) Arrange the words given below in a meaningful sequence.

.29 Presentati i
Q ion 2. Recommendation 3. Arrival 4.Discussion 5.Introduction

Q.30

Q31

Q.32

Q.33

Q.34

A) 534,12

B) 35421

£) 3,5,1,4,2

D) 53,124

MM qu s sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related

A) Grandfather

-B) Grandmother

C) Daughter

D) Granddaughter

How many pairs of letters are there in the word “CASTRAPHONE" which have as
many letters between them in the word as in the m_v:wmn'mw - GE
A) 3 pe
By 4 oW
c) 5 RE
D) 6 of
How many such pairs of digits are there in the number 421579368 each of which has
as many digits between them in the number as when they are arranged in ascending
order? \2

N2

A) None F-AY
B) One

C) Two

D) Three

If South-East becomes North, North-East becomes West and so on. What will West
become? -~

&) North-East

B) North-West

C) South-East

D) South-West

In a certain code language COMPUTER is written as RFUVQNPC. How will

itten in that code language?

MEDICINE be written in BU mﬂx % 3 WL 90 % R
A) MFEDJJOE OWMPuw T HR

B) EOJDEIFM RT L VQ N Y

C) MFEDIJOE -
_D)EOJDJEFM & b oy 22w W A

N e
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Q.35 How many 4's are there preceded by 7 but not followed by 3?
mcwm_qammm,\am~wnmq»_mmummoqpuomw
87463 20

-A) Four
B) Three
C) Six
D) Five

Q.36 How many u»:m of letters in the word 'CHAIRS' have as many letters between them
in the word as in the alphabet?

RS
Ay 2 Wt
B) 3
C) 1
D) 4

Q.37 Seismography: Earthquake:: Taseometer :
4) Landslides

B) Strains
C) Resistances
D) Volcanoes

Q38 Pointing to a person, a man said to a woman, "His mother is the only daughter of your

father." How was the woman related to the person?

A) Aunt 3] ﬂ\m\%@
YYD

B) Mother .@
Q C) Wife

D) Daughter ° 1
Directions (39 — 43) Read the passage below of Theme based Logical arguments and
answer.

o 4/.% Q39 The context in the developing and third world countries is worse. Women here are still

e

subject to ‘honor killings®, they are still denied their basic rights to education and
freedom, and face SQ_mnom and abuse. It was observed in a CARE project working
with adolescent girls in India, that these girls were considered as temporary people
who would cease to exist, at least for their fathers, once they are married.

The passage best supports the statement that:

A)
B)

0
D)

A nation can progress only when women are given equal rights and opportunities as
men.

The future of women in India is quite bright and let us hope that they will justify their
abilities by rising to the occasion.

All women should be well treated equally.

In many places in India, domestic violence is acceptable to women, and cultural and
ethical implications are imposed on their freedom.

Q40 Mar
of d
enc
incl

The
A)
B)

Q42
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Q40 Many argue that art cannot be defined. Art i

Q41

Q42

Q43

f deli . ) s often considered the process or product
of deliberately arranging elements in a way that appeals to the senses or emotions. It

encompasses a di jtae : :
incl a.@ a n__wnnmm range of human activities, creations and ways of expression,
Including music, literature, film, sculpture and paintings.

The passage best supports the statement that:

A)  Artis defined as a form of human expression of a creative nature.

B) Artist realises his dreams through his artistic creation.

C) Art is governed by external rules and conditions.

D)  Artrequires that nothing shall attain the work except through art itself.

The model was extended to establish a relationship between financial development
and economic growth. Co-integration results show that capital-output ratio and rate of
growth of human capital have positive effects on real rate of growth of GDP,
irrespective of the indicator of stock market development. An increase in the market
nmES:.Nm:o: dampens economic growth, whereas turnover has no significant effect,
and an increase in the money market rate of interest has a positive effect on economic
growth in India.

The passage best supports the statement that:

A) Reform measures on the market rate of interest that were introduced in the Indian
banking system appear to have promoted economic growth significantly.

B) The impact of the developments in the financial sector on economic growth in
India.

C) here is a shift in our economy from a manufacturing to a service orientation.

D) Real wealth, real effective exchange rate and the rate of growth of labour have
negative effects.

The Indian farmer celebrates the social function in the simplest manner possible. He
celebrates a lot of festivals round the year. He celebrates the wedding of his sons and
daughters. He entertains his kith and kin and friends and neighbours.

The passage best supports the statement that:

A)  Social life of Indian farmers in India.

B) The condition of the Indian farmers should be improved. He should be taught
the modern method of farming.

C) The Indian farmer is harassed by the village touts. He is harassed by the
money-lenders and the tax collectors.

D) Farmers are the backbone of the nation.

Most social network services are web-based and provide means for users to interact
over the Internet, such as e-mail and instant messaging. Online community services
are sometimes considered as a social network service, though in a broader sense,
social network service usually means an individual-centered service whereas online
community services are group-centered. Social :n?.oaa:m m:om.m:os.\ users to share
ideas, pictures, posts, activities, events, and interests with people in their network.
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i3 Q.47 f.zﬂ..: Emrnm.::.. _A.:mz advancement important is that researchers not only squeezed

" Socia) “.n t into such a tight space but also suceeeded in finding a novel way to keep that

7,_.:.3. ight energy from diss: pating as it moved along, thereby achieving laser action.

A) This marks a i i i . . .
,Qfsn ) av:na. a major milestone in laser physics, and heralds a new era in the field

B) There are several applications of Jasers th i
. s at can probe, manipulate and characterize
uch a4 DNA molecules. ' ’

C) Tamn,_‘ hair removal, which is offered in medical offices as well as in freestanding
medi-spas and salons, has become a sought-after method
which D) Lasers are of high price and limited wavelength range.

Q48 Politics arc mberent in us all and it would be fallacious to arguc that one is not

Imen( political. There are those wha are very skilled at politics and their success can be very

n this obvious and there are those who are not very skilled at politics and their own demise
can be traced back to this lack of skill in politics.

sina A) Politics are the strategics we employ to accomplish our goals.
B) We vote for wha's most popular or for prom king and queen.
laken C) Cheerleaders tend to be popular because they are remarkably cheerful.

D) Often politicians have to please people with different backgrounds and wishes.
uses
Directions for questions ( 49 = 53 ): Each of the following questions contains a word
been followed by answer choices. You have to choose the word which is the most essential

part of the given word.

the Q.49 Knowledge
| the A) teacher
B) wisdom
(o2} learning
ina D) power
has Q.50 Dullness
A) Failure
ses B) Fever

C) Loneliness

sen D) None of these
Q51 Writing

A) Author

B) Novel

S C) Pen

v D) Skills

Q52. Painting
A) Books
h B) Pictures
,©) Colors
D) Canvas

www.JMIEntrance.com



Q33 collvge

A) Projects
B Knowledge
A% Professor

i cricket, 1f haw”

D) Canteen
Q38 § )
Dircetion:(54- 58 ) Examine the brwler, then "o
mine the ?::S.:n Statemeng, slaternant represahts
" : : nts;
Q34 X0 7 i L H
2 Examine the following statemens: Ay IWwhoisnat
1 st i it . 4 1f whom is tl
. sten to the radi - . : o
o the radia only if | am Biire Cy :.s::ﬂ: sy
ed. [3]] If whon i ¢
not the bow

118 I am never bored
‘ :d when e .
. Whenever I go for u.__:E_:_”.,:r ™y slster's

comp,
dal, . pany.
" 1y I lake my sister E::r.

h one of the followin Clusions can be arawn fye | e gl &
i1 g conclusions
b S10ns ¢g [ ) € Slateme,
awn frp il
Which / & | ‘ 1 th bove g 1en|y
<_ am 7.:5_ | :u—n: o the radio o
m: I'1am ored, [ se ok my: ..m—r._..u Compan

I b ¢ E: any,

C) If 1 ar i
J 0ot with T
D) If 1 my sister, then '] 1
am not bored | do oy listen _q“ _",_n ”K_,_.M: toradio
adio,

Q55 I X walks less f;
) I X ””,“__”“ ",r“ ”n;” _“,m: Yoand Y walks as fag but
S less fastthan ¥, and Y walkes o oo
compared to X, Z wal nd Y walks as fast by not faster than z; 1)
i then, as
7Y ru !

A) xlower than X
-B) faster than X

) with same speed as X

D) Given data is not sufticient 1o determine

.

Q36 I halk wmy
Ltalk 1o my best friend, then Tdidn’t need 10 take a pill for headacl
dache:

Al :..:,.2_ 10 my best friewd

B it ot need 10 take a pill tor headache
Cobueeded to take a pitl tor headache

DL did oot talk o my best triend.
Amswer choelees )

) AR
) ue
¢

)} Altand CD

Q37 lnthe last 120 Nevtes,
following coclusion is eoteet?

AL L0 Viest Koblvwere QoL i e

oWt
) Lt the lagt 120 Sexies Vi
C) India did not win the mateh.
n) Ladia Wt the senes

£ Kol s i reat v

W

Vitat Kohti was in great R and hudia won the el e a

e stateinent, Which ot'the
\ A1 Gt L e Last QDL ndia would el have )

E_‘wn.._::xmc.ﬁ: Answe
Fuch point in the grap
company helongs Lo on
software.

3000 -

Ko

£ 1800 o

1200

(8]

_ %N
Q50 tor how wat
Nales « EXpey

A) 4
L1}

(& I
S 1

Qol P how w
enpenes o

A)
1)
29}
m

£ 6 82

-

TR

[
s

s
o

ALS
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Q58 In cricket, if ‘how” is the name of the batsman (on stum
the bowler, then *whom’ is the name of the wicket ke
statement represents an accurate conclusion based on the

Ps) and *whose® the name of
eper. Which of the following
above information?

If who is not the batsman's name, then wi
B If whom is the wicket keeper’s name, thy

If whom is not the wicket keeper name,
D) If whom is not the w
not the bowler.,

hom is not the wicket keeper's name.
en who must be the batsman,

then who is not the batsman,

icket keeper name, then who is not the batsman or when is

Directions(59-60) Answer the questions on the
Each point in the graph below
company belongs to one of the t
software.

basis of the information given below:
shows the sales and expenses of a company. Each
hree sectors among facturing, b and

3800

3000

2400

ale~

1800

s]
o

1200

Expenses (in Rs.crore)

1111

(o]

600 -

1000 2000 3000 4000
. Sales (in Rs.crore)

o
_ X Manufactring O Automobiles O Saftware \— S 0

o s (Profit =13
h any of the companies, is the profit more than 40% of the sales ( P
.59  For how m
¥ Sales - Expenses)?

A)
B)
o)
D)

~N N

Awm: F ow many oftware companies are the sales more than Rs.2500 crore but the
any S
or h

9
expenses less than Rs.2100 crore?

A)
By
C)
D)

(= N R VE N N ]

11
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Directions for questions (61-64): Answer
given below. A team must be sclected from ten

\ € ing,

Cn Or,
J. Of these, A, C,E and J are forwards, il »
defenders.

s G,

s Gypg sy
y I} .A_.:_ I

.n-5
an,

g
ds apg )y Directions fc
statements,
whether the
option from

Further the following conditions need o be observed:

* The team must have at least one forward, one

Point guard and one defender,
* Ifthe team includes J

0.65. Wh
» it must also include F, 5 s _A.. 30% of th
* The team must include E or B, but not both, Ip) o 1. The nw
* If the team includes G, it must also include F, m 9 number of ¢
* The team must include exactly one among C, G and . .,\ ,,\ The qui
* Cand F cannot be members of the same team. f T A) sitkier:
* D and H cannot be members of the same team. C oy T B) The qu
* The team must include both A and D or neither of them, C s T ) C) The qu
= /d toget!
There is no restriction on the number of members in the team, L\ D) The qu
AXD 2w . E
Q.61. What could be the size of the team that includes G? AXD = «Oﬁw% o
A 4 "
ww 5 b ¢ €lo ol p thesem
C) 6 L Ankit
D) More than one of the above 1. Bhar
i ible team? A) The
Q.62. What would be the size of the largest possi . ¢
G5 ele dhn moe
A) 4 -
£
B) 5
L6
D) 7 i . Directi
Q.63. Who cannot be included in a team of size 7 o
A) A Pie ch
B) H and ¥
C) J perce
uwm st w3 sold i
. y includes C?
¢ size of the team that inc L
Q.64. What can be th C h o BENR
A) 3
;- B) 4
Cs
D) More than one of the above o
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Directions for questions

Siatersents, T and 15, m~:M_m<w _ﬂ...n. 66) ':..m question given below is followed by two
whetber the statements are wcaonm““_..og..on.n:a: given in the two statements and assess
option from among the choices given Vn_““m.s er the question and choose the appropriate

Q. 65. What percentage o

f the questi i w7
L. 30% of the questions are m:nhv—naHMWmaMm”.Wwﬂ_ﬂwvhmm Mv, .WEr.Qw in the exam? %
1. The number of questions attempted by R 34 wathi.

number of questions amya but not by Swathi is (5/8)th of the total

attempted by Ramya.

A) .Mﬁ%:mm:on can be answered by using one of the statements alone but not by the
B) The question can be answere,
C) The question can be answ:

together, bu. cannot be
D) The question cannot be

d by using either statement alone,

ered by using both the statements

answered by using either statement alone.
answered even by using both the statements together.

Q.66. Each of Ankit and Bhanu belong to one of the tribes between truth tellers i.e., those

who always speak the truth, and liars i.e., those who always lie. Do both of them belong to
the same tribe?

1. Ankit: I am a liar, only if Bhanu is a truth teller. S
II. Bhanu : I am a truth teller, only if Ankit is a liar. <™

A) The question can be answered by using one of the statements alone but not by the other.
B) The question can be answered by using either statement alone.
C) The question can be answered by using both the statements
together, but cannot be answered by using either statement alone.
E) The question cannot be answered even by using both the statements together.

Q.68.  Ifinall the
25%, in at most how many

more than two states, js gy least

Um..mnmeniqc.qﬁ find out the correct answer under following data sufficiency .
reasoning Questions. )

O,wo:f Start up Restaurant, the hourly wage for a cook is 20%
dishwasher and the hourly wage of dishwasher is half as much

manager. If a manager’s wage is Rs.8.50 per hour, how much les:
eam each hour?.

ly wage of a
ager does a cook

A) 345 Cré\o W
B) 4.35 0z \Wae ,,;mm\
" - 5 i 5 2 Q. Gt
Directions for questions (67 to 69): Answer the questions on the basis of the information mw w % M 25o \
given below. \
G D Q7L %
Pie chart - 1 gives the percentage shares of u=. the five cement no.EcMEmnu mr N.nmn«%n 192846)34 m&r \
and E - in the total quantity of cement sold in SE.:J..NM\N. Pie char “ m»._ d £5(12211518)67 N
percentage shares of all the eleven states - P through Z - in the total quantity of cemen THLERS0ITR)A 0 Sy
g e 112( ) 131 =
sold in the country. ; POowa&\ Al 65 "
DQIé?J& Pie chart-2 [} = What Comes in empty bracket?
Pie chart-1 o~
12% ® 2 A) 334050 60
E c 2 B) 4050 60 70
A D 2wo” -€) 55705560
28% ¢ \So D) 65 70 55 60
&
= Q :\20
23% &5« Bo BN
Q - \vo &=
8 S 2 W to M-57/SET B 14
17% T2 20 9
6% Lo \S
18% 14% L éo
; i old by the
" company in a state is the total quantity of cement M: Y yls W
The market share of any nomﬁma of the total quantity of cement sold in that state. W= Qo 24
company in that state as a per 4o X = 60 \5
ETB = Mo < b= P
: M-57/S \9 S 5 o [
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Q.72 Whatis Reena's rank in the class?

£

There are 26 students in the class.

1L .Hrn.vn are w students who have scored less then R
A) w:rn data in statement I alone are suffici “ onqa. i
B) if the data in statement 11 alone eient 1o ey e question:
pe e s elttec are mc.,_._n_.nE to answer the question;
erin for 11 al i
<] o ¢ one are sufficient to answer the question:
) if the data in both the statements together are needed. destion: W
w»
Q.73 Whois the father of M? ) O
L A and B are brothers. L
1. .w.m wife is sister of M's wife.
WW HM ﬁn MwS In statement I alone are sufficient to answer the question;
if the data in Statement I1 alone are sufficient to answer the question;
i} wmwn Mms n_En—.. in 1 or Il alone are sufficient to answer the n:nu:o:...
D) . Mmoﬂp..n even in both the statement together are not sufficient to answer the
Q.74 What day is the fourteenth of a given month ?

L The last day of the month is a Wednesday.
1L The third Saturday of the month was seventeenth.
A) if the data in statement I alone are sufficient to answer the question;
B) if the data in statement II alone are sufficient to answer the question;

L if the data either in I or II alone are sufficient to answer the question;
D) if the data even in both the statement together are not sufficient to answer the

question;

Q.75 Among four friends A, B, C and D, who is the heaviest 7 0% & 7 §
1. B is heavier than A, but lighter than D. RN
I1. C is lighter than B.

A)
B)
C)
B)

if the data in statement I alone are sufficient to answer the question;
if the data in statement 11 alone are sufficient answer the question;

if the data either in I or II alone are sufficient to answer the question;
if the data in both the statements together are needed.

Q.76 Itis 8.00 p.m., when can Hemant get next bus for Ramnagar from Dhampur?
1. Buses for Ramnagar leave after every 30 minutes, till 10 p.m.
1L Fifteen minutes ago, one bus has left for Ramnagar.

A)
B)
0
D)

Q.77 Inacertain code '13' means

if the data in statement I alone are sufficient to answer the question;
if the data in statement II alone are sufficient answer the question;
if the data cither in I or Il alone are sufficient to answer the question;

if the data in both the statements together

'stop smoking' and '59' means "injurious habit'. What is the

meaning of '9' and 5! respectively in that code? Wl - &

1. '157" means 'stop bad E_v:... )
I1. '839'means 'smoking is injurious’.

A)
B)
e
D)

M-57/SET B

< @9

fficient to answer the question;

ient answer the question;

to answer the question;

ot sufficient to answer the

if the data in statement I alone are su.
if the data in statement 11 alone are mcm._n.
if the data cither in T or I alone are sufficient
if the data even in both the statements together are n

question;
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i Q.83 Balram, the local shoe shop owner, sells four types of foof i

: 3 twear - Sli—
mrouwwmwghs_wﬂ.n_rnn m:og o E.R_ Joggers (J). The following wz?_:mmﬂw Amv_wo_nu=<um
reg: g the cost prices and selling prices of these four types of footwear: o

n;
A) L sells for Rs.500 less than J i
o i emon oy W.,M”%M— mmww%._m.uoo more than S, which, in tum,
more than S, which, in turn, costs Rs.100 _nwm.Em: Mmm N
If it is known that Balram never sells any i
v y item at a loss, then which of th ing i
true regarding the profit percentages earned by Balram on Eho:awzm M_.M:Mw.:_._m__w
represented by /, s, ¢ and j respectively? o
wmnmwan L 23 -%o0
mnmn:».. A) [ =c 25 2 I+ Sy 3o
By c s 2l 3y S 2 La%0 e Vi
£ o L 2 C-Too
h other D) s 2 & = Pn; mOk /qo
A < = ~\oo
ncils and 5 Q.84. Inthefi i
.84, gure below, P, Q and R are points on a circle with centr
the cost of circle at R intersects secant PQ at T. If CQRT =55° and OQTR = wwm m.w_ m_,wwﬁmq,maa A
BZo ‘ 4
<]
, A) 110°
Y B) 100°
90°
ots of the LWW 50° T ’m
Q.85 A sequence of 4 digits, when considered as a number in base 10 is four times the
number it represents in base 6. What is the sum of the digits of the sequence?
L
o 0 by d R S
! Wv w bW-0 -6
. ) 20 €
5 D) 8 2
Q=0 Q.86 Some friends planned to contribute equally to jointly buy a CD player. Howeyer, two
of them decided to withdraw at the Jast minute. As a result, each of the others had to

ad planned for. If the price (in Rs.) of the

than what they h
find the number of friends who

shell out one rupee more
between 1000 and 1100,

CD player is an integer

actually contributed? b WU R = Ut =D
] A)21 W Wy e W2m -
f B)23 m,w; W W2
C) 44 .nwnv\. . AR W6 7 W - Wy
h L
D) 46 oy 17 3”21
5 24 AR YA \ \y
24 z- a8
My\‘e '8 un ..mw\\\
. 20 W,%
\0 \ ) 2=,
\ v
17

CM-S7/SETB
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DIRECTIONS for questions (87 - 88): Answer the questions on p, B

information given below. is of the
o : . 5 In the
i A robot is designed to move in m.v.nn::m_. way m:m it can vw .mQ in motion bya ::Qo? Q91 'AC G
{ program. The program can be initiated by assigning a v.cm:En rational value tqo sy OCesge,
; The program directs the robot to move in the following way. As soon as the szmzn M
started, the robot starts from the point O, moves 2n metres northward apq nrww.ﬁ is
direction by n° to the right. It then moves 2n metres forward and again changes 5 &m.am it
by n° to the right and continues in this manner till it reaches the starting point o Qnmsoq,
covers a total distance of 1000 m, whichever happens first, and then it stops. » OF il
Q.87 1 assigned a value for n and started the program. If the robot finally came bacy s A)
and stopped, what is the total distance that it has covered? 0 WW
A) 180m D)
B) 360 m
92 A
C) 720m Q i
D) Cannot be determined h
4
Q.88 For how many values of n in the intervals [1, 60] does the Tobot cover less than 10g 1
m, before it stop ) (
A) 19
B) 60
i C) 355 Q.93
D) Infinite

Directions for questions (89-99): Answer the questions independently of each other.

Q.89

Q.90

A) 96 <n <104
B) 104 <1 <107.
C) 107 <n <111
D)1l <2 <116

If N = 888Dup to 100 digits, what is the remainder when N is divided by 6257

A) 128
B) 138
C) 338

D) 388

If [log101] + [log102] + [log103] + [log104] + ...... + [log10n] = n, where [x] denotes
the greatest integer less than or equal to x, then

www.JMIEntrance.com
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Qo1 In the figure below, BD = g

o c<m -
AC (in cm). 1dDC=~6em AE:ED=3:4, If AF 12 cm, find
A
L
F [
e, 2
2n b=k . gl
o2 o
C) 44
D) 40

Q92 A regular polygon has an even numb
and the distance between two opposi
has.

A) 6
B) 8
C) 20
D) 16

er o.., ma.om. _j:a product of the length of its side
te sides is of its area, find the number of sides it

Q.93 There are three cities A, B and C, not on the same straight road. Two buses P and Q
start simultaneously from A and B respectively towards C. By the time Q reaches C, P
is exactly halfway to C. Immediately after Q reaches C, it starts travelling towards A
and it crosses P at a point 165 km from A. The ratio of the speeds of P and Q is 3 : 5.
Assume that the roads joining A to C, B to C and B to A are all straight roads. If B is
twice as far as from A as it is from C and P would take to cover the distance from A
to B, how much time would Q take to cover the distance from C to A?

2 DA o
A) Nm:o.._a lg P ﬁm‘u.v c,,,.a .
B) 3 hours B N
3 o P9 et a9
Ov uwg %\\W@\, 5 w\\ 1 } I\ﬂw\\ o /W
D) 4 hours > nw.b LS x e

a and b, are expressed as the sum of m positive real

; T ositive real numbers,
S espectively as follows:

numbers and n positive real numbers r
a=s] +s2 +D..+smand
b=t1+122+D.+

If [a] = [51] + [s2] + D-. + [sm] +4 and [b]
where [x] denotes the greatest integer less than or &

=[n]+[2]+D-+Im*3, .
qual to x, what is the minimum possible

value of m + n?

A) 6
B) 10
c 8 )
D) 9

10
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Q.95 Consider two figures A and D that are defined in the co-ordinate plane, Bach

‘ represents the graph of a certain function, as defined below : 18Uy, (100-1
pirections |
A |x|-|y|=a sequence c.“ -”:-“_
. | = 1 the
] D: |y|=d Q.100 M..:m, 16.3
i} ; i ing i i 48
1 If the area enclosed by A and D is 0, which of the following is a possible value of (a, gy \mw 54
f11 C) 40
i1 A) 2,1) va 46
i B) (21
0 (23 Q.101 Find the
j D) (@3 K) 32
i . B) 34
8 | Q.96 A natural number # is such that 120 n <240. If HCF of n and 240 is 1, how many C)36
¢ values of of n are possible? D) 38
A 24 .102 Find th
ww 32 . e A) 47
Bya4
C) 36 C)45
D) 40 ® ) D) 46
ind 1
* 2 6 12 20 30 42 Q.103 Fin
] S b g , find the value of 57
m Q7. "CTurtE ittt nitieeles Ww m
| )G
| A)  24/90 anw 1
| B)  242/900
C)  245/900 Yy
Directions:
m D)  200/729 b
.98 If the sum to infinity of the series 2 + (2--)2B3+@2+d)49+ 2+ 3d)8/27+D..0 is A
Q.104 Fin
5/2, what is the value of d? QNN wwA
@cs = ./Iwrw. i :. >v
A) 712 : x> Qa2 & B)
B) -7/12 s - 2 1
) - 27 w6 “x ba )
C) -5/12 oA P}
D) 5/12 “To L LR PP
> g S b Q105 F
Q.99  The first n natural numbers, 1 to n, have to be u_:.u:mmu [in a row from left to right. The 4
n numbers are arranged such that there are an odd number of numbers between any 4
. two even numbers as well as between any two odd numbers, If the number of ways in i
i which this can be done is 72, then find the value of 1, (
1
A 6
ww m Q.106

D) More than §
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e

of AQ. S.N

ks IOF. 5::..%

+D..0is

od

tht. The
en any
vays in

Directions (100-103 ) these

uestj
sequence of numbers ) s
i . Cquire yoy g find the missi
SSIng number §
n a

Q.100 Find the next nu : .
4,8,16,32, . mber in the serjeg

A) 48
_B) 64
C) 40
D) 46

.101 Find the next i i
Q pir number in the series a,._\‘mﬂ 12,20, —
B) 34 S
C) 36
D) 38

Q.102 M_V__M.“:n missing number in the s
By44
C) 45
D) 46

erics 54, 49, . 39,34
< S

Q.103 w:a the first number in the series — 19, 23, 29, 31,
i1z 1 RT
B) 15
C) 16
-B) 17

Directions-(104-109) Find out complex questions where it is the interval between the
numbers that is the key to the sequence.

O._ou ﬂo:n,_\uim :ox;c:&n::?wmnnom
3,6,11,18—
A) 30
B) 22
C) 27
D) 29

Q.105 Find the next Ea::_un_, in the series
48746, 42, 38, -3
At F
B) 30
C)33
D) 34

Q.106 Fjnd the Bmw%:m number in the series.

435918517 — s
)32 ,ﬁme.,,w AR
B) 30 e N
C) 24 B ~—
D) 26 = %1 b
4“5 m ﬁ /‘N\R

21

)4
&
?
*
i
|
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QT Sw

AN A
BN EREE TN
\ 1} -

A D &
LR By
YRR
(R TN J 10 The aunthor inaplies thath
o A). Totally wrong
QUIOR Finnd the missing tumbors in the seties B). ./.,.EQL,..: Wealisne
Lo A L AR LY i B ). whelpiul
TR RAN Jdefensible
Al ,/w/.,,.—./n,,f. ., T..M:J & s w ,.__. - D). wdelenst
B LT W Y A TN Tersee
b ) L% TR R TR R RO N Qo The author's angament
(AR w0 action is mast weaken
M
A) parasites have
) ek 1 < :
QI Comddder the wlangle ABC shown in the following i B selmmg
=dom, D= &, and, What is the ratio :,.~ \ :,, my figure where BC=1> namre
% At the w & ater of N - - e W pests th
De wiangle RDCY OOl R penmeter of the triangle ADG T, Iy <) e 7. 7. 7%
S W .&hﬁ m 1hese insais
Q2 1t can be wferred th
Al part of an arie!
ATO B). axmacted from
RIxv C).parntofa speed
are " D). a speech deliv
D¢ i )
Qi What should be ¢
Directions for questions
3 estions 110 to 113, Read th
N 3 e s : INY
questions that fallow: short passage below and snswer e
A 1ancnan mav be definad as B)
2 Sochar may b defined a3 o place where Man is passive and the rest of Namre acie
1 Quite rocentiv Nanure had her own sanctuan o v SNARR acmve ~
sen o .M,,,/.,n.:.v. ./u..,.; had her oW sancruaries, where man either did not go atall er ealy =
as AW w/;/ru‘«,ﬁ.,n.,a_ in comparatively small mumbers. But now, in this machinery ags, ther D
o e loft where I N P S TURCIINRLY 2=, there
PN m...m.ﬂ left Jﬁi. man cannot go with overwhelming forces ar his command He ean
Irranols bt aboardala Ly giaoe & < ) 2 L e
wAw.klf © f,:u.v all the n.,,n.orn 5,5 Ew in the world to~day. To-momow he certainly will have 4
done so, unless he exercises due foresight and self<centrol in the mean fme. ) * Analyse the followit
that Tollow.
There is not the slightest doubt that birds and mx: beine K
rere 18 oot the shghtes irds and mammals are now being 3 off much faster
: Ay g Killed off much faster  \yy the pasez ©

han they can breed. And it is always the largest and noblest forms of life that suffer most. , e N
The whales and elephants. lions and eagles. go. The rts and flies. and all mean parasites. o arv.,(,;/)/u: ]
remain. This is inevitable in certain cases. But it is wanton killing off that I am .Am.uwm. g of pwnqn..MM/ er.
to-night. Civilized man begins by deswoying the very fomos of wild life he leams to Hm DMM.WI./,,//MM
appreciate most when he becomes stll mere civilized. The obvious remady is 10 begin Mw,n» ﬁm,wwn..., s
consenvation at an earlier stage. when it is easier and better in every way. by enfoxing laws wm.wwwou a1y
for close seasons, game preserves, the selecuve protection of cenain species, and sanctuaries.

1 have just defined a sancmary asa place where man is passive and the rest of Nature actve.
But this general definition is too absolute for any special case. The mere fact that man has
protect a sanctuary does away with his purely passive amitude. Thea. he can be beneficially
active by destroying pests and parasites. like bot-flies or mosquitees, and by finding antidotes T

of reeIVing

for diseases like the epidemic which periodically kills off the rabbits and thus starves many of s
the carnivora to death. But, except in cases where experiment has proved his intervention 10 mp.”.,uwna n,..wa

be beneficial, the less he upsets the balance of Nature the better, even when he tries to be an

earthly Providence
M-57/STT B
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that op
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only
here
can
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es,

5110 The author implics that 1

Q A). Totally 2"... ng L
13). somewhat idealistic
). unhelpful
12). indefensible

"8Udefinition

Lsancluary is

Q 111 The author’s ¢ C i SUro; 5 bot-flies g 05 uItoe. L &
2u r: »n_ —»n_ { Yy Tn~ - r~, :E_:r: toes would be 1 beneficial
iction 1s most weakene, :_w all of the followiy 5 except

A)  parasites have an important rolg 1o pla

B the eliminati ANV E5aad Y in the regulati i
) e aon of any specices can have unpr a,.\m_._::c“_ of populations
=_,_ ure predictable effects on the balance of
C) the pests themselves a;
; S are part of “hai
D) these insects have been mm. i Lo it

troduced 1o the arca by human activities

Q.112 Itcan be inferred that the passage is

A). part of an article in a scientific journal

B). extracted from the minutes of a nature club

C). part of a speech delivered to an educated audience
D). a speech delivered in a court of law

Q.113 What should be the most appropriate central idea of this passage:

A) Author argues that man kills big animals but saves mosquitoes & other

parasites.
B) Man is selfish by nature so he is up against the wild life which is harmful for

his survival

C) Ecological balance, if not maintained by man will be harmful in long run.
D) Author proposes a programme for not disturbing the balance of nature as it is
beneficial for mankind.

Analyse the following passage and provide appropriate answers for questions (114-117)
that follow.

i ith black money kept abroad—the Black
With the passage of 2 tough new law to deal with b on :
Money aﬂ&m%ommm Foreign Income and Assets) wnmz_anﬂﬁmﬁ Mm mmowpﬂw%_wﬁﬂﬂm
i i i i ibition) Bill in the Lok 52
introduction of the Benami Transaction (Prohibition) Bill in s

rth unaccounted

i t has demonstrated that it has the pol
the budget session, the govermnmen s ks L

k Mone .
o soadi T i 1 T B and ides for 120 per cent tax and penalty in
hed by Indians abroad and provides 10 p : .
mmm% E:w meww. mMM jail Mﬁ:. will become law after gefting assent of Enﬂﬁmwﬁ_ﬂnﬁ%mﬂmﬂm
m:nmmﬂw:cwow _ummwmm by both Houses of Parliament. The government has alst
a

attach domestic property of equivalent value of such offenders.
gn Income and Assets

Undisclosed Forei .
. ot that after the Lok Sabha Eﬁ approved
a minority had to act on it within 14 aw.vﬁ
+ House. If the Rajy2

Crucially, the Lok Sabha Speaker had .ﬂoﬁ,ﬁmw Munw

(Imposition of Tax) Bill as 2 Zﬂﬂnwoﬂlama e

the bill, the Rajya ,Mm_u:m_i_na the g e eseihees P ed by
t wou

i t or not
of yeoetving it ¥ ¢ Bill, the Lok Gabha has the power 1o accep

Sabha makes changes OT T . el p .
accept the recommendations assed

d have been de
cjects a Moncy
and it will be ©
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It Mm now for the govermnment to ensure that the

not applied selectively through misuse of the im

black money menace must not b

mon i i

—:Im% held wc.ncma. begins to bear fruit, due attention needs to be given to tax
€ country which is an equally big menace.

Q.114 According to the passage, the Black Money Bill has been passed to:

A) Distribute the Black money amongst the citizens of the country.
B) C.mn the black money for the development of the country.

C) Q.m the unaccounted funds and assets stored by Indians abroad.
D) Bring equality of income all over India.

Q.115 With reference to the passage, consider the following statements:

1

new laws are implemented transparently and
decades, th ‘ plementation machinery. For the first time in
» the assault on black noney is well on course. This apparent stranglehold on the

e allowed to be sabotaged. Indeed, after this assault on black

1.

gn_. a Bill gets approved in Lok Sabha, it is deemed to have been passed_by
Rajya Sabha.

If Rajya Sabha makes any changes in the bill previously passed by the Lok
Sabha; then the Lok Sabha has the power to accept or not accept the

) recommendations and it will be considered passed.
Which of the statements given above is/are correct?

A) Only (i)

B) Both (i) and (ii)
C) Only (ii)

D) Neither (i) Nor (ii)

Q.116 What does the term *Assault on Black Money’ means in the passage?

A) Utilising the black money for economic growth.

B) Keeping an eye on the black money stored by the Indians abroad.
C) A raid on the black money stored by the Indians abroad.
D) Transferring the black money from to India abroad.

Q. 117 What punishment will be given to the people caught with black money stored abroad?

A) 120% tax & penalty

B) 10-year jail term
2) 120% tax & penalty or 10-year jail term
D) 120% tax & penalty and 10-year jail term

Fill in the Blanks (118-122)In the sentence below, there are two blank spaces. Below
each sentence some pairs of words are given, pick out the most appropriate pair to fill in
the blank in same order, to complete the sentence meaningfully.

Q.118 Shalini was not

. by the criticism and paid no ......... even when her best friend t

talked against her.

&) Bothered - attention
B) Troubled — mind
C) Threatened- waming
D) Deterred - heed

M-57/SET B
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Q119 Hi

Q.21 £

Q122

Direct
Arran

Q123

A Tt
ev

B. E:

o 0
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Q.9 Hitlereasta . ang
e sha
A _ dow upon worlg history,
B) Herculean - m_ms:: .
£ Gigantic - _.oi.‘vm
D) Huge - ag
Q.120 Somesh.

me comin, 0 hi €, he smile
g S table, } 1
10 his ¢; bl d and

«- Me a chair,

A) found - signaleq
B) met - Sat
C) looked - gave
D Saw - offered

Q.121 Although the leader s life was both

he had accomplished many of his goals
........... for
A) magnificent- success
By _._mma - frustration
C) thrilling - ambition .
D) arduous - satisfaction
Q.122 Wars usually result from

i e among the parties involved and a failure to ..

A) doubts - dispel

B) hostilities - debate

9 m”r_m”ﬂmo:m - understand
B} disagreements- resolve

Directions (123-126): Each question has a group of sentences marked A, B, C, and D
Arrange these to form a Logical sequence. T )

Q.123.
A. The upsurge of public activism against the setting

eventually forced the State government to announc
is an impressive case in point.

B. Early last year, 2 similar agitation coerced the government into calling for a revision of
the Goa Regional P

lan 2Ql11, a oo::o,a_.mﬁaoozamanﬁ ounzna%gmm mémﬂrmw%
land, including green belts and coastal stretches, for construction
n.arog.own._uwmn

d agitation against SEZs has demonstrated the power, of popular protest in
the State. ]
projects had questioned the propriety of th

. Those opposed t0 the I
? ;:‘Mn %%oa of land and then selling them to promoters

E. A coastal State with an area of 3,700 square kilometers and a popul

E.::o: Goa has always been extremely sensitive to the impact of unre:

up of Special Economic Zones, which
¢ the scrapping of all 15 such projects,

e government acquiring
at low prices.
ation of about 1.4
strained economic

development.

&) BCDEA
B) CDEAB
Q) EABCD
D) DABCE

25
nm-57/SETB

www.JMIEntrance.com



0 w0

o

m

Q.125
A.
B.
C.
D.

124.

n Kenya remains unresolved.

Q.126.

The ncﬂ-n_nn:n.un n:m“wm_a e antry's cconomy i ‘
MMMW wﬂ”m_oa”w_q%mwmgmna on trade beyond :wm. Kenyan border WMM W.MM”“M_ES, ang
Many countries responded, EoSm:.Wm nmmmnsw_.n HM:mES:ms assistance apq logigy;
support. For this, I and many other Kenyans _Whmwwﬁ?_. tica]
Thousands of Jivelihoods, along with investments throughout the region, aye
collapsing.
Hwﬂﬁﬂ%ﬂ: in WMSS escalated with murders, rapes, burning of Property, Joof;
and the displacement of thousands of people throughout the country - the mﬂ.msm”.sw
community was urged to help. long|
A) AEDBC
B) ABCED
C) ACDEB
D) ABDEC
. The US market will continue to be the dominant one in the foreseeable futyre. The
rupee could become even stronger. o .
A greater recourse to hedging as well as striving for multi-currency revenue streams
automnatically suggests itself.
Already one company, Dell, by resorting to these methods extensively has turned in
an above - average performance during the first quarter.
Most IT companies have been grappling with more mundane problems such as a high
level of attrition amidst rising wage costs and inability to secure the right type and
number of American visas.
A) BCADE
B) ABCDE
C) DCBAE
D) EDABC
Last March, I was invited to present a paper on the topic of whether the mistakes of
the 20th century would be repeated in the 21st century as well.
The economic crisis hadn't become grave then.
But today the world is in the midst of the biggest economic crisis since 1929.
The key difference between then and now is that the old power structures have finally
disappeared.
A) BCADE
By ABCDE
C) CDEAB

D) DEABC
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Q.129.

and stinks most of time.

Sy:The city is alinosta

on the road did not deter them,

small price to pay for the trip

Q :The occas!

R :They were excited, fascinated by the sight of esh snow on the roads
S :Even so, it looked beautiful to tourists ol various categories.
inforgettable sight of young labours scantily clad. |

1y with the t

Se:But some visitors came aws
The Proper sequence Should be
A) RQPS

By QPRS ¥
C) RSQP i
D) SPQR
Q.130.

SI: Venice is a strange and beautiful city in the north of Italy.
P: There arc about four hundred old stone bridges joining the island of Venice.

no horses, no buses.

Q : In this city there are no motor cars,
R: These small islands are near one another.
S: It is not an island but a hundred and seventeen islands.

S6: This is because Venice has no streets.
The Proper sequence should be: o
S

A) PQRS
B) PRQS
L) SRPQ

D) PQSR

Directions (131-134): Each of these questions has a question with a part of it underlined
The question is followed by four alternatives to replace the underlined part ..:ow.
sentence. Choose the best alternative which is grammatically correct. N

QI31
W_ m..”“m particular job we have discovered that to be diligent is more important than being
A) by being diligent is important than being bright
B) being diligent is more important than being g.mm.sn

C) diligence is more important than brightness .
D) for one to be diligent is more important Emn. being bright
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Q.132

Q133

Q.134.

Directions (135-138): Each sentence carries f
re

which

Q.135.
A)
B)
C)

D)

Q.136.

A)

B)

0

D)

_K)he could have tolq _”Mn told the
B) him could have to]q y M that (he
C) :m could have told :555 the kj
D) him could have tolq E_H_.V_..M th
at

-M.ﬁrmﬁ the kip
N2 wag me

"8 Wasme,

m _c:m was _
he King waq ~

B was |,

1f she were I, she woulg
A) was L, she would ha
B) was L, she would ha
2) were 1, she would 1
D were 1, she would h;

=u<o

acc

ve paomuﬁonmﬂwsa the prize had

Ve aceepteq 5» Prize if ghe :wwo won i,

ave accepteq g, P28 She had it
n.

he prize ;
ave Priz
accepted { © if she woylg have wop
8 nit.

he pri
R Prize had ghe Wwon it.
; € 1n th : .
week given H i
week given to employees in many :E:w:ﬂ:m hours s alreag
Inationa] o evident ;

A) The trend ﬁ.oéwa a decrease in tp i T

weekend given to employees j © working
B) The trend toward a decrease ;

¢) The trend toward de
; t Crease in thy
weekend given to em ng i
2 ployees i St B . i
D) much multinational onmeNmmwz e r e

5 u
is most closely to Standard English usage: quent usage parts. Identify the part

The running of large businesses consist of gettin
g o i e

Nﬁa will m.m= to somebody MMMMMWMM%M m_mmw«mww%ww feSptamils. st e
™ _.M oﬂ%%mﬁm_mMwwmmow%cwwwwwwwwﬂmwwm mw getting somebody to sell something that
The running of i i i

that moaovm% nﬁ%ﬂww_mm_nmnm.nwoﬂwﬁwwowMM Mﬁmumﬁwm,%wm wﬁ ﬁoww.m.w.xn Rl

g somebody to make something that

onwards, people started feeling disdainful and self-

From the sixteenth centaury,
products that led to a heightened focus on

conscious about their body and its
emotional and bodily regulations.

The heightened focus on controlling
self consciousness about the body and its products, found
From the sixteenth centaury, onwards, a growing disdain for an
about the body and its products took hold, leadingto a heightened foc

and bodily regulation. . .
The heightened focus on emotional and bodily regulation
century onwards, when people felt disdain and self conscious

its products.

the body and emotions comes from disdain and
in the sixteenth century.

d self-consciousness
s on emotional

ons started from the sixteenth
ness about the body and
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A We are forced ¢
B We are forced &
¢ are forced 1

€ We are forced to f: ko planations of irrational events.
D; We are forced t talism as an explanation of irrational events.
Q.I38
A)
B)

service to the nation.
C) Creativity, in any field, is not regarded as valuable, but also as a service to the nation.
D) Creativity in any field is regarded not only as valuable in itself but also as a service to

the nation.

Directions (139- 142) each of the following have a paragraph from which the sentence
has been put blank. From the given options, choose the one that completes the
paragraph in the most appropriate way.

Q.139 Paragraph completion: Technological Change

.For instance, 19th-
century Japan was a world where steam and sail, railroads and rickshaws all shared common
space. Industrial revolutions were distributed unequally in place and time. In the Second
World War, the most common transport for the German army wasn’t tanks and other
motorized vehicles but horses. The technological world wasn't flat. This is the world, still,
today. It is lumpy and bumpy, with old and new technologies accumulating on top of and
beside each other.
Choose the option which fits in best in the given blank:

A) Throughout history, imperatives besides efficiency have driven technological change.
B) As they layer and stack, technologies persist over time.
C) The best ideas do not necessarily become popular right away.

Some innovations spread slowly, while others do so quickly.

Q.140. Paragraph completion - Economic Models
Economic models are stylized abstractions of reality; designing them is an art and a science. I
once had a professor who'd compare economic models to maps.
- The same is true for economic models. You choose
what’s important to include in order understanding how certain factors relate to each other.
Even then, the math gets very complicated. Equations help economists see subtle points,
higher order effects, changes in incentives, and how their ideas relate to earlier work. It also
helps them to test their theories on data.

Choose the option which fits in best in the given blank:

A) The power of maps comes at a cost: when you distill the information, you introduce

uncertainty. ) ) .
B) Designing a map with the wrong audience in mind can render your map almost

completely useless.
C) If they cannot be understood and interpreted by z.ﬁ .Ew man, they serve no purpose.
D) If you include every tree and back road, the map is intractable.

[ )

Q
D)
Direct

There
that fi

Q.142
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Q.141. Paragraph completion - Solitude
)
Plato proffered a parable in which Socrates cel o his book, T i
% ebrates th i i » The Republic,
of the om<Mw MJM %.:w_mwonroq escapes from the darkness %m wﬂﬁﬂﬂw%::sousor In the mmnmoé
company i ans — into the sunlight of contemplative th rground den - and from the
the philosopher becomes attuned to her inner self and th o b oy
e )

and loneliness. and important, distinction between solitude

B) Solitude is a state of mind essential t
consciousness and conscience,

C) Philosophers recommend soli i
o solitude in short bursts, to e

D) If we lose our capacity for solitude, our abili
lose our very ability to think.

dialogue ‘which the soul holds with herself” finally roooEnméoM__. w_  solitude, the gomndieas !
audible. t

Choose the option which fits in best in the given blank: _“
A) Philosophers have long made a careful m

i

o the development of an individual’s
nable the process of self-

ty to be alone with ourselves, then we

Q.142 Paragraph completion -Emotional Intelligence

T — . - - by broadening your
n_.:o:.o ary is grounded in neuroscience. Your brain is not static; it rewires itself wi
experience. When you learn new emotion words, you sculpt your g‘mE,m,Eon i.,ww,ma .i.::
it the means to construct new emotional experiences. And the more emotions that %,_ ﬂ.ﬁﬂm
the more finely your brain can construct emotional meaning automatically Woa omﬁ..
people’s actions.

A) Since people use the same emotion words without necessarily meaning the same
thing, a good emotion vocabulary is key to emotional intelligence.

B) In short, your emotional intelligence is a function of the emotions you experience and
the expressions you perceive in other people.

C) Hence, learning foreign languages, which have emotion words that have no direct
equivalent in English, can greatly enhance your emotional intelligence.

D) In Short, the idea that you can increase your emotional intelligence

Directions (143-146): Answer the questions based on the following information.

There are two gaps of the following sentences. From the E.ww of words given, choose the one
that fill the gap most appropriately. The first word in the pair should fill the first gap
; sometimes it

Q.143 Their achievement in the field of literature is described as.....eeeeeees

is even called.........-

A) magnificent, mﬂom@oﬂmgn
_B) insignificant, influential

C) significant, paltry

D) unimportant, trivial
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Q.144 rom the time she had put her hair up, every man she had met groveled before and she
had acquired a mental attitude toward the other sex which was a blend

o A S,

A) admiration, tolerance

B) indifference, contempt

C) impertinence, temperature

D) arrogance, fidelity

Q.145 This simplified........ to the decision —making process is a must read for
anyone.......important real estate, personal, or professional decisions.
A) primer, maximizing
B) tact, enacting

C) introduction, Under
By guide, facing
Q.146 Physicians may soon have to...............help paralyzed people move their limbs by
bypassing the.........nerves that once controlled their muscles.
A) instruments, detrimental
B) ways, damaged
C) reason, involuntary

D) impediments, complex

Directions: (147-150) Choose the answer that produces the most effective sentence —
clear and exact, without wordiness or ambiguity. Do not make a choice that changes the
meaning of the original sentence.

Q.147 Just as I was despairing, a nun passes by and whispers encouragement.
A) passes by and whispers
B) is passing by and whispered
@) is passing by and whispers
D) passed by and whispered

Q.148 Not being aware of the legal implications of his action, an arrest was made by the

security guard.

A) an arrest was made by the security guard.

B) the security guard called the police to arrest the offender.
C) the offender was arrested by the security guard.

D) the security guard made an arrest.

Q.149 Some couples are forbidden to divorce by religion, others are forbidden by social
custom.
A) others are forbidden by social custom.
B) social custom forbids other couples.
C) other couples are forbidden by social custom.
D) others by social custom.

Q.150 Zubin couldn’t decide whether to stay at home in Delhi during his vacation or if he
should go to visit his relatives in Chennai.
A) vacation or if he should go to visit

B vacation; or to visit

C) vacation or to visit

D) vacation, or if he should go to visit

M-57/SET B 32

Dit
un
ser
the

www.JMIEntrance.com



Um_.nnm..:..m (151-154) In questions giv
underlined. Below are given 23:..»:»: below
<entence. Choose the correct u:n_.uw:unnm-,c th,

- AN case

the answer-

Q151 The Workers are hell bent at petfing whatis
ue to them

A) Hell bent on getting
B) Hell bent for getting
Q) Hell bent upon getting
D) No E._vno.,.mam—.w

Q.152 When it was feared that the serfs might go too f:
ar and

serfd & : i
om, the protestant leaders joined the princes gain their freedom from

2t crushing them.
A) into Crushing
B) in Crushing

LB without Crushing
D)  No improvement

Q.153 If the room had be i
- en brighter; I would have been able to read for a while before bed

A) If the Room was brighter
B) If the room are brighter
C) Had the room been brighter
D) No Improvement

Q.154 His powerful desire brought about his downfall.

) His intense desire
B) His desire for power
C) His fatal desire

D) No Improvement
Directions for questions( 155-160): Select the appropriate meaning of the phrase given in

the question.
Q.155 Ofthe first water
A) trifle
B) genuine
C) of the highest quality
D) shoddy

Q.156 To fit the bill
A) To misappropriate

To Bribe
\WW To be suitable

5) To pay the bil

33
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1) an odys

1A% Tokick

D)to monaopolise
Q. 159 At Sixes and seven

A) in apple order
B) in disarray

C) at gun point
D)in an order

Q.160. Peradventure

A) doubt
B) Stroll
C) Exemplary draring
D) travel

Directions for questions (161-168): Select one sentence to complete the given statement
in the form of a small paragraph. For each item you are given the frame of a 3-sentence
paragraph. The middle sentence has been removed. Three possible fillers (A, B, C) are
provided for this gap (...). Any one of them, OR more than one OR none of them might
fit. The completed statement must be a compact and well organised presentation of the
idea indicated by the first and third sentence. Select the appropriate answer option from
(A) to (D) and indicate it.

Q 161 Most people have certain prejudices against certain types or styles of writing.(...)

But these are common and meaningful modes of communication that we need to

study and understand. .

(a) For example, popular science and children’s fiction are considered
unintellectual o

(b)  Some of us would regard ‘Sunday magazine’ journalism and advertising as
cheap and even improper. o

(c)  Great essayists have always been a source of inspiration to young writers

The blank can be filled by ~
~4) onlya

B)only b

C) onlyc

D)aorb
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Q 162 Teachers and professionalg im
diagrams in various combinati
Council has recommended a co

Sits . g

cﬂm:A:_w technical training use speech,

- g Responding to this the .ﬂnn_ai.n
S€ On “communication theo

writing and
al Education

. \ . ,.
(&) JM» pnnE:ou— students receive no instruction i Q_ s e e
n i .
information structures in communication LR T b
®) Soon interactive video will be a com

mon feature of technical education

©) Steadily failing costs have brought sophisticated information technol th
ogy to the

door of the typical classroom
The blank can be filled by —
A)onlya
B) only b
C) only ¢
D)aorb

Q 163 1 am pleased that you have published my article * i fci
used nom—vmuv. materials this omission :Wm nwﬁnw MMHMMWMMHHNW_M% S
a owev ' i indi '
) L nm er, you have failed to indicate my company affiliation along with my

b) The editor has done a good job as shortening my rather long original te

c) But there is no reference to my position as HRD head at ?M naﬁﬁuﬂ

The blank can be filled by —
A)onlya

B)only b

C)onlyc

D)aorb

Q 164 The new telecom companies take a radical approach to product development (..)
They think instead of what consumers want and then develop the needed technology
(a)  Theyinvest very heavily in state-of-art technology )
(b)  Theydonotrely primarily on simulated studies product wnnmvﬁz.:Q )
(c) Theydonotinventa product with old technology and ask Marketing to sell it
The blank can be filled by —
Agonly a
B)onlyb
C)onlyc
Djaorb
d annually in India (...) Even the
s worth w_m_ mow _M%annﬂ noﬂwﬁm“nﬂmn%eam to specific complaints.
Controller o 3 :
mwn investment in R & D across the industry is low

suring quality are reasonably comprehensive and

owever led to some questionzble

Q165 Herbal medicine
office of the Drut
(a) However t
() The present rules for en

effective I
ompetition to comer the market
© .—_g.wmanmoomm:mp are to the consumer's disadvantage
The blank can be filled by —
A)Onlya
Bjonlyb
C)onlyc

9»9&

v TS
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QI66 Cuban Vice-President Uhuru Kenyatta reminding us that Cuba is not China. (...) Both
the indecisiv6eness of the regime and the hostility of the US are hindrances.
(a)  Economic reforms are implemented at a much slower pace in Cuba
(b)  Sugarand tourism are the main carners of Cuba’s foreign exchange
(c) Cuba’s moves towards liberalization have been minimal and cautious
The blank can be filled by —
A)onlya
B) only b
C)onlyc
D)aorc
Q 167 We agree that our articles pointed out the level of local support for the law and order
forces trying to capture most dreaded odds. (...) There is no doubt that the man is a

criminal and, should be treated as one.
(@) However, we did not blame the two state government for this

(b)  But nowhere did we condone the man’s actions
(c)  The real issue is the need to revamp the entire policy regarding sandalwood

The blank can be filled by —

A)onlya

B)only b

C)onlyc

D)aorc
Q.168 A bill now before the US Congress poses a threat to Indian software specialists. (...)
These fees from employers are to be used for training programmes for US nationals in key

areas.
a)  Any agency hiring foreign workers will have to pay a special fee

b)  Workers with special skills will be charged an employment permit fee
c) The licensing fees payable to the software subcontractors will be raised
The blank can be filled by —
A)only a
B) only b
C)onlyc
DP)aorc
Directions for questions (169-170): Select the option that mest suitably fills ups the

blanks

Q. 169 Traffic signals in the country X operate in a reverse fashion : people move when it is
and have to stop when itis _.
A) amber, time
B) green, red
£) red, green
D) red, raining

..)? I doubt whether you can.

Q170 Can you call a seeker of personal goals an(..
A) relentless, atheist
B) Steady, pessimist
C) relentless, aimless person
D) relentless, agnostic
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